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QUESTION 1

When considering the differences between Analysis, Reporting, and Querying, which of thefollowing is NOT a user who
needs Analysis?

A. A user who takes answers from one question as a starting point for other questions
B. A user who needs to understand multiple factors influencing performance

C. A user who needs to identify and understand trends from multiple perspectives

D. A user who views detailed data, which is optionally totaled and subtotaled

Correct Answer: D

QUESTION 2
Which statement is true about the Bl Bus?

A. It is the name of the report process that is spawned and viewed in Windows Task Managerwhen a report execution
request is processed.

B. It monitors all http traffic flowing through the gateways and dispatchers.
C. Itis a set of protocols that govern communications amongCognos Blservices.
D. It uses a JDBC driver to connect to Content Stores in Sybase, SQLServer, Oracle and DB2.

Correct Answer: C

QUESTION 3

Which of the following is a key difference between MDX and SQL?

A. MDX is used for dimensional style reporting while SQL is incapable of dimensional stylereporting.

B. MDX has built in functions to support relative date calculations while SQL cannot performrelative date calculations.
C. Dimensionally Modeled Relational (DMR) retrieves data using MDX, not SQL.

D. MDX can reference metadata that SQL cannot.

Correct Answer: D

QUESTION 4
Which of the following MOST clearly states the value of using a methodology?

A. It provides a philosophy of development that maximizes return on investment.
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B. It helps consultants progress in a systematic way to insure all critical steps are addressed.
C. It helps project managers estimate the cost and effort in developing a solution.
D. It ensures that early mistakes are avoided in developing a solution.

Correct Answer: B

QUESTION 5

You are tasked with administering theCognos Blsystem to perform batch reporting in a waythat maximizes the use of
available system resources. Given the following information, how manyjobs should be created to perform this task?

480 reports must run

6 report processes are available

Each process is configured to use 4 low affinity connections
A.20

B. 24

C. 48

D. 12

Correct Answer: A
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